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DD–2027 

B. Com. (Part II) EXAMINATION, 2020 

(Group—III : Compulsory Paper) 

Paper First 

BUSINESS STATISTICS 

Time : Three Hours 

Maximum Marks : 75 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- vk¡dM+ksa ds izdkj crkb,A izkFkfed vk¡dM+ksa ds ladyu djus dh 

jhfr;ksa dk o.kZu dhft,A 

Discuss the types of data. Explain the methods of 

collecting primary data. 
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vFkokvFkokvFkokvFkok    
(Or) 

fuEukafdr Js.kh ls ekf/;dk ,oa ek/; dh x.kuk dhft, % 

vad ¼ls vf/kd½vad ¼ls vf/kd½vad ¼ls vf/kd½vad ¼ls vf/kd½    fo|kfFkZ;ksa dh la[;kfo|kfFkZ;ksa dh la[;kfo|kfFkZ;ksa dh la[;kfo|kfFkZ;ksa dh la[;k    

0 240 

10 215 

20 200 

30 180 

40 165 

50 145 

60 115 

70 50 

80 0 

Calculate median and mean from the following series : 

Marks (More than) No. of Students 

0 240 

10 215 

20 200 

30 180 

40 165 

50 145 

60 115 

70 50 

80 0 
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bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- fuEukafdr leadksa ds fy, lekarj ek/; ,oa ekf/;dk ls ek/; 

fopyu Kkr dhft, % 

e/;ekue/;ekue/;ekue/;eku    vko`fŸkvko`fŸkvko`fŸkvko`fŸk    

35 2 

40 5 

45 8 

50 6 

55 4 

Calculate mean deviation from arithmetic mean and 

median for the following data : 

Mid Value Frequency 

35 2 

40 5 

45 8 

50 6 

55 4 

vFkokvFkokvFkokvFkok    

(Or) 

vxzfyf[kr vk¡dM+ksa ls dkyZ fi;lZu dk fo”kerk xq.kkad Kkr 

dhft, % 
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oxZoxZoxZoxZ    vko`fŸkvko`fŸkvko`fŸkvko`fŸk    

21—25 5 

26—30 15 

31—35 28 

36—40 42 

41—45 15 

46—50 12 

51—55 3 

Calculate Karl Pearson’s coefficient of skewness from the 

following data : 

Class Frequency 

21—25 5 

26—30 15 

31—35 28 

36—40 42 

41—45 15 

46—50 12 

51—55 3 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- izrhixeu dh vo/kkj.kk dks le>kb,A izrhixeu js[kk,¡ nks D;ksa 

gksrh gSa \ izrhixeu ,oa lglEcU/k esa vUrj crkb,A 

Explain the concept of regression. Why are there two 

regression lines ? Distinguish between regression and 

correlation. 
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vFkokvFkokvFkokvFkok    
(Or) 

X ,oa Y ds e/; dkyZ fi;lZu dk lglEcU/k xq.kkad Kkr 
dhft, % 

X Y 

58 11 

43 27 

41 31 

39 42 

43 30 

46 28 

43 28 

45 20 

41 19 

47 20 

45 32 

44 30 

Calculate Karl Pearson’s correlation coefficient between 

X and Y : 

X Y 

58 11 

43 27 

41 31 

39 42 

43 30 

46 28 

43 28 
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45 20 

41 19 

47 20 

45 32 

44 30 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- lwpdkad dks ifjHkkf”kr dhft,A lwpdkadksa dh fo’ks”krk,¡ crkb,A 
lwpdkadksa ds fuekZ.k esa vkus okyh leL;kvksa dks le>kb;sA 

Define Index Number. Write the characteristics of Index 

Numbers. Explain the problems in the construction of 

Index Numbers. 

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr vk¡dM+ksa ls fQ’kj dk lwpdkad Kkr dhft, rFkk 
fn[kkb, fd ;g le; mRØkE;rk ijh{k.k dks iwjk djrk gS ;k 
ugha % 

oLrqoLrqoLrqoLrq    

vk/kkj o”kZvk/kkj o”kZvk/kkj o”kZvk/kkj o”kZ    pkyw o”kZpkyw o”kZpkyw o”kZpkyw o”kZ    

ewY;ewY;ewY;ewY; (`̀̀̀) 
ek=k ek=k ek=k ek=k 
¼fdxzk¼fdxzk¼fdxzk¼fdxzk----½½½½ 

ewY;ewY;ewY;ewY; (`̀̀̀) 
ek=k ek=k ek=k ek=k 
¼fdxzk¼fdxzk¼fdxzk¼fdxzk----½½½½    

v 30 40 2,000 50 

c 22 20 1,050 35 

l 54 15 1,320 55 

n 20 40 2,340 45 

bZ 15 30 630 15 
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Compute Fisher’s Index and show how it satisfies time 

reversal test from the data given below : 

Commodity 

Base Year Current Year 

Price 

(`̀̀̀) 

Quantity 

(kg) 

Price 

(`̀̀̀) 

Quantity 

(kg) 

A 30 40 2,000 50 

B 22 20 1,050 35 

C 54 15 1,320 55 

D 20 40 2,340 45 

E 15 30   630 15 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

5- O;kolkf;d iwokZuqeku dh vo/kkj.kk dh O;k[;k dhft,A 

O;kolkf;d iwokZuqeku dh mi;ksfxrk dk foospu dhft,A 

Explain the concept of Business Forecasting. Discuss the 

utility of business forecasting. 

vFkokvFkokvFkokvFkok    

(Or) 

¼v½ 52 rk’kksa dh xM~Mh ls nks rk’k ;kn`fPNd <ax ls [khaps 

tkrs gSaA izkf;drk Kkr dhft, fd nksuksa rk’k gqdqe ds 

gSaA 

From a pack of 52 cards, two are drawn at random. 

Find the probability that both are spade. 
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¼c½ ,d FkSys esa 5 yky o 5 dkyh xsansa gSaA pkj xsansa ;kn`PN;k 
fudkyh tkrh gSaA izkf;drk Kkr dhft, fd lHkh dkyh 
xsansa gSaA 
There are 5 red and 5 black balls in a bag. Four balls 

are taken at random. Find the probability that all are 

black balls. 
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